(BlsR2) kg

SH5FE6H8HIRE
JOHSE | meris T mane" B Ik P 4RI L B
RER- B RERT AN R EE=13.3, P8ISR AR )1 Rigi=10.5, HENICFR) Fitgi=(6, 41.1), EINKFR RIS [FRMiE],
T =91, B)IIFRig=8.2, BBJIlmE=(12, 14.8), FRNAERLD,
ERNIFRE=9, 85 )II7E=15, =5 )IE=(14, 16), HENTHRAED
=45, X4)117E=9.9, INKR)ITFE = (6, 12.9), AENT s
2 )I5Ri5=8.8, HHl)IlE=10, 7P 5Em 1= (6, 9.5),
FEEIFE=13.1, 2 (B3R =278, T )= (6, 8.1),
SElIGRE=13.2, ILUFIFRE=14.2, BJIlfigE=(6, 8.1),
|IBRAEF)I7i=8.6, RH&EF)IFiEi=6.6 AR )iRE=(6, 8.1),
X )11 E=(6, 8.8),
=) FR5=(6, 8.7),
A= (6, 8.4),
AEiElE=(6, 11.7),
SHlIE=(14, 9.9),
WFEHIFE=(12, 10),
IRR#EF)IE=(6, 7.8),
REFIRE=12, 5)

EXh RHENIRE=6.4, 320D )I7R1E=8.3, FHENIIGRE=(5, 5.7), RIIKZR #NGR-BENER-FE
FEANFRE=10, #KIFRE=4.9, #E)IRE= (9, 39), -/l
BHA)IFE=9.3, £&)IF1EH=8.3, DI E=(5, 7.3),

KEANIFRE=12.2, F4)I5E=6.2, FER)IFRE=(5, 9.2),

ZRINFRE=11.3, Ki#)I5R5=10.8 HEKIIIRE=(5, 4.4),
KEA)IIFRE=(5, 10.9),
T2 )I5RE=(5, 55),
A= (5, 9.7)

EEL NI FRtei=17.6, P8 FISRER)IFRE=10.2 — HENITHREE]

RERM INRIFRte=8.2, /NI FREi=18.3 NI Ftei= (8, 15.4) )T (4]

KLY INRINFRIE=9.1, /NEJIRIEE=18.5 #ERE=(6, 59.7), RINRA]T

IR SR E=(8, 15.6) BT RE]
M- RmAR Eftm HRJIIGRE=19.5, #iE7)1;R3E=17.9, AR RJIGRE=(8, 17.5), EINKR BENRR-BERIER-RE
[R)I178=8.8, AANA)IRE=104, BRI 48i=(6, 16.1), -/l
Fa)II5FRIE=13.1, BAT)IIFRE=5.2, [RNIFRE=(8, 7.9),
ZRNIFEE=12.2, BlFE=77, BEEB)IRE=(7, 8.1),
BE&R )17 t=9.4, [EMJIIFitH=5.8, AHB)IIRE=(6, 13.8),
HM)IRE=8.7, AH#JI7itE=155, HIRJI5RE=(6, 12.9),
J\BJIFE=7.7, BR)IFE=144, BB )ImE=(6, 4.5),
R FRE=5.1, KIE)I718=6.9, AENIFRE=(6, 6.2)
shit KR E=6.3, BEAIIFE=6.2

TFRET B R JIFE=42.3, LE0)IFRE=12.9, HBRJIFE=(7, 38), —

EEIFE=175, EFE0)I5E=14.9, T80 FRE=(5, 11.6),
HFRE=6.6, BE)IfRE=8, BEIFE=(11, 15.7),
=8I Fik=4.9, BH)IIFE=10.2, HEIFRE=(7, 5.9),
SRIIGEIE=6, KFIFRE=7.4, BE)E=(7, 1.2),
FEAT NI 7R48=7.3 ARIFRE=(5, 9.1),

E*—E}#J;"tiﬁﬁiafk e )

in Ji 5)||. =(5, 6.5
1L p 3 FiA™ FI7i8=6.3, & K)IFikEH=7.3, FRIFRE=(10, 38.1), FRNEREL],

WRHIIFRE=16.2, Ki)I7E=9.5, FH)IlE=(8, 6.3), RENTRME]
FEIIFRE=6.9, SRFERER)IIFRigi=4.4 A AR)IFIE=(6, 6.5),

=)= (6, 8.5),

LEIRIE=(6, 6.2),

FRBERER IR i5=(6, 3.8)

et HIFRIE=8.6, & )IIiE=55, RZ)IFited=(8, 56.2), FRNEREL],
HB)IFRE=6.9 wIFE=(8, 5.2) ARZNTFRME]

J\tETH KBNFRE=12.2, (HE)IFE=8.4 A& E=(8, 10.8) EINIKZR BRI S8 [RHiE].

RN AL
FRN[AEREL],
HENTIRIAEDL
AENTIsE]

REDH WEIFRE=6, & E < )IiE=8.5, - AN %]

FRINFE=7, RizH)IFE=48,
BRIRE=3.7
AfENLLIET mIFE=129, &AK)IFEH=7.8 — ENIKFR BRI -S| [FRiE],
FRN[AEREL],
HENTIRIAEDL
AZNTIEE]

HFHE BERNRE=7.1, BA)IFRE=5.6, — AZNTHRONE]
EIIFiE=6.4, #)IFE=2.9

534 HRET AR )I7E=9.3 - —

IR AR KEH K)I7RkE=5.1, 7Eh)I1;i5=5.8, FEANIGRI=(5, 4.7), KZNTFRNE]
BF)IIFie=7.5, 3R E=5.4, FREJIFEE=(9, 5.3)
WL 5R8E=9.7, 7R EIIREE=6.5,
#;IE=6.1, FN)IIFRLE=15.7

EET BEIFRE=17.1, fT3E k=88, — RENERIEE]L
1#)1157120=6.6 AENTFmIsE]

FNZRET NI FRLE=14.3, FFHIFREE=5.3, FNH)IIFRtE=(5, 14.3) RENERIEE]
IR =4 AN TFHRIMNE]

FAERT A RE=7.5, WEJIFRE=9 — AZNTHRONE]

LAt 25k )11 5RE=57.8 — RENERIBE]




(BIR2) #KEHRELE

iﬁtﬂgﬁi’% AT ST e RN e BEMNHEK PRI LDEE
FH& =iEm RENGFE=7.4, KF)NIifE=13.9, KF)IFE=(5, 11.1), BERINTRIEML]
FFH I Fi=23.2, #F)I|FE=3.8 #F )13 E=(5, 3.3)
RS EH)IGRE=56, F)IfE=18, B FRte=(5, 14.6), -
BRI FRtE=16.3, KiB)IjRiE=3.9, KEBNimiE=(7, 3.8),
BEIFE=7.7, Ki2)IFE=8.4, f&H)IIFRE=(5, 6.2),
{ERA)IFE=9.3, JIl E&)IIFE=102, A= (5, 7.2),
WHRNFRE=35, AEB)IE=5.2, ERB)IFRE=(5, 8.3),
FHKIFRLE=6.1, /NTG)I|FRiH=5.6, JIE&IFRE=(9, 9),
880 )| Fis=11.6, FTEE)IIFit=4.7, B NIGFRE=(5, 3.4),
REFIFRg=46, =R)IIFIE=5.7, AEBFE=(7, 46),
E5)II5E=5.2, AEF)I5RE=4.9, INTR I FRE=(5, 5),
K& NFRE=5 f8R)I157RE=(5, 10.4),
FE N FRE=(7, 3.9),
REFIFRIZ=(5, 4.1),
KEIFiE=(5, 45)
{RIRET %f!ﬁlﬁiiigz4 RENIFRE=8.3, BI5RIE=(5, 12.6) —
BIgEJIFRiE=5.9
5 B EFET T H)IFRE=17.4, FA/7RE=6.7, 7 H )| 7R=(5, 13.8), -
FERBJIFRtE=6.1, MHLE)IFE=6.2, hnise B )11 Ris= (5, 5.5),
&) RE=8.1, BILJIIRE=3.9 BL)IERE=(5, 3.5)
EEE- B0 EEH J\Fb)Il;7E=5.2, ABE]I51E=6.9, i R JI7E=(6, 38.4), BERINTRIEML]
[ 1 FRiE=8.5, #a)1l5kkE=10.38, R IR E=(6, 7.6),
SE)Ri=4.9, &)RE=5.9, BIGRE=(6, 9.7),
FANFE=4.2, KE)IFig=4.2, FH)iRE=(6, 3.6),
PRI FRE=13.5, AT Fi5i=8.7, KHEIFRE=(6, 3.7),
BE)FE=7.2, AR )IFE=77, A= (6, 6.4),
SR a8 )ikEg=9.8, FEZ)IRE=18, HEBA)REE=(14, 5.7),
EEIGRE=5.9, 83 )IIRE=48, SR & )IE=(6, 9.5),
BRI RE=7 FER)ImE=(12, 16),
EEIFE=(12, 48),
BH =6, 4)
& EIIRE=145, &E5I5iE=738, HERJIFRE=(9, 37.9), BRI [#&E0)
J\BNIGREE=11.4, EMIIFREE=21.2, BIFE=(13, 12),
O FR=9.7 J\EJIIFEE=(5, 9.8),
LERE=(5, 21.1)
B [T =)IFRE=11.9, B#I5EH=68, HRRJIRE=(7, 47.8), BARIITIR@EL],
TEEIFE=6, T£& =728, =)= (5, 11.8), BRI ch 5k [#E50]
KB )IIFRtE=6.2, 4&)IFE=24.1, E#R)IIRE=(5, 48),
AN FRiE=11.1, TER)IFE=23.7, ERNIFRE=(5, 47),
ABNIFEE=5.7, H8R)IIFE=5.9, KE)IFRLE=(5, 55),
ER)IFRS=109, &4 KJIIFE=10.3, HIRE=(7, 17.8),
RN RE=9.6, FIRJIIRE=6.8, MANFEE=(11, 9.1),
B RIIFRE=8.5, 5hi%)IIFg=4.2, BRI = (11, 20.6),
FrEITE=26, JII&)FRE=13.2, RENGRE=(5, 4.6),
ERNIFE=7.1, B)lRE=34 HERIIRE=(5, 4.9),
ZR)IGRE=(5, 9.8),
shsk )= (5, 3.7),
HER)IFE=(5, 6.7),
HhIlfEiE=(5, 2.8)

Y (REREEY REFEER OBASHEILIBEBEERLTVETS,

SHSE6HSARE




